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SOME EXAMPLES OF PRACTICAL APPLICATIONS OF VIBRATION ABSORPTION/ISOLATION:

(REF: Den Hartog: lechanical Vibrations)
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Fta. 3.9. Electric hair clipper with vibeation absorber: &, magnet; b, armature tongue;

¢, pivot; d, cutter; ¢, guide for cutter; f, vibrstion absorber.
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Fia. 3.16. Gear
with souad-
deadening rings
‘nserted. Thesa
sould be either
shrunk or tack-
welded in o few
spots so as to
allow somae rela-
tive rubbing dur
ing the wvibma-
tion.

(a) 1]
Fra. 3.10. Torsional dynamic vibration
absorber (a) with mechanical springs and
(b) with centrifugal aprings.

Fra. 3.22, Bilge keels, extending

over mure than half the leaygth of
a 3hip.

(o) Seea from rear
Fra. 3.20, Schemse of Schlick's anti-ship-colling gyroscope. It operates by virtue of enargy

dissipation at the brake drum C.

[6) Seen from right

. (&} Seen from rear

[c) Seen From right

Fra. 3.21. Sperry’s gyroscope for diminishing ship rofll.  The precsssion is forced by a motor
D. which is controlled by a amall nilot rvroscone shawn in (h) and (2)
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Fra. 3.23. Ldealized scheme of com-
veational automobile with frunt and
renr uxles and ahock alcorbers,
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Fia. 3.19, Modern **blister™ coastruction
of Frahm's antirolling tanks,



